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Topic:- Child Development & Pedagogy (CDP)

1) As a teacher, what type of strategy you will follow in an inclusive classroom? / T e

& FTUH, 3Ty TH AT H&T H {5 UHR P 0 BT U B2
1. All the above / fﬂéﬁﬂ“—ﬁ

2. Only Peer tutoring / PHad ﬂgﬁﬁ[&m

3. Only Cooperative learning / FHad W fRraf

4. Only Collaborative learning /B ad TgANTIHD TRIe

Correct Answer :-

+ All the above / C‘N’*}Iﬁﬂﬂlﬁ

2) A person with capacities to respond appropriately to the moods, temperaments,

motivations, and desires of other people have good intelligence. / IF'ﬁEQ'ITGﬁ,
FUTT, IROMSHT 3R 3= AT 1 g=o13i R Sfera ufaferar 3= &t arar arat afaa o
3BT WYE gIaT g |

1. Intrapersonal / favIdafaas
2. Interpersonal / 3{ddafadd

3. Naturalist / Wﬁﬁﬂﬁ
4. Spatial / RITH®

Correct Answer :-

. Interpersonal / 3{AdTfaIH

3) What type of learner is a child who learns best by taking notes during class and reading

them aloud before a test? / WWWWWQT&H@‘:%, Fﬁ'a‘T&'IT %amﬁmﬁw
3R e A UEd G W H UgH dgaR JIEdl 87
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1. Reading/writing learner / U&+1/aia TRI&Mf(¥Ra= aret)
2. Visual learner / €0 fRremaff

3. Cognitive learner / ITTH® fRremeff

4. Descriptive learner / quiTe® fRremeff

Correct Answer :-

 Reading/writing learner / U&H/cra e ?-ﬁ@@%f CISL)

4) What type of parenting style is characterized by giving no rules or structure to children? /

gﬁﬁﬁémmmqéﬁﬁmwaﬁaﬁﬁwﬁdﬁaﬁmmﬁﬁﬁ
?

1. Enmeshed / 3T 31T
2. Permissive / @lﬂjﬂw
3. Authoritative / 3TIDHTRSD

4. Authoritarian / 3G RaArC]

Correct Answer :-

« Permissive / @lﬂjﬂw

5) What phenomenon is experienced when one knows a person’s name but cannot remember

it in the moment?/ﬁﬁﬁﬂﬁﬁaﬁﬂmmqﬁmwmmm
3T BT 82

1. Tip-of-the-tongue phenomenon / feu_3ifwm g g
2. Recognition error / HI-dI _ﬂ%

3. Forgetting / H{cI-T
4. Retrieval cue / Fﬁqﬁ Tobd

Correct Answer :-

« Tip-of-the-tongue phenomenon / feg.sifp-gafm ge

6) What theory focuses on the degree to which new information is mentally analysed? / P

1 I 39 R A Higd oa1 & P 78 SHeR] &1 fod g¢ a8 aAfie wu d
fazcryoT foea wirar 22

1. Information processing theory / {d-I-Y ERICEURREE
2. Relational analytical theory / AU facivuTa® Rigid
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3. Levels of processing theory / UfehaThRUT Rigid o TR

4. Deep level processing theory / ‘IG\Q TR DT Ui aThRur Rigid

Correct Answer :-

« Levels of processing theory / ATl Rigid & W)

7) Impulsivity is a characteristic of the following disorder. / STl (s'ruﬁtrﬁl%)
fFafafed fier o v faRuar 21

1. Eating Disorder / U [ddR
2. Attention Deficit Hyperactivity Disorder/ ¥+ 3HId ihgdr fabR
3. Learning Disorder / 3f&TH fddR

4. Post-traumatic Stress Disorder/ UY STHHTISI d-1d [dBR

Correct Answer :-

« Attention Deficit Hyperactivity Disorder/ &I 3{HId gihgd! fabR

8) Who among the following is not a learning theorist? / IREINICEE K| T STy
Rigider T8 82
1. E.L. Thorndike / USdS Ud Y-HSgd

2. E. Erikson / é Qﬁaﬂ:{
3. B.F. Skinner / Eﬁwm

4. Ivan Pavlov / 3a9 UTdclld

Correct Answer :-

o E. Erikson/ ‘s‘ Qﬁa'\‘:l:f

9) According to Vygotsky, adults can help a child learn by building upon their knowledge
with new knowledge using techniques. / ATSCTD! & IR, TAH GEICa
BT IYGRT HP Y JH & 1Y 3 T BT 10 e T 9 &1 WhRa- d 7gg
qad gl

1. Scaffolding / TPTH IS

2. Psychological / EEICEIEET

3. Proximal development / gy faer

4, Ethological / ‘s'%hﬂﬁ?ﬂw
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Correct Answer :-

. Scaffolding / SHTHHITCET

10) According to Jerome Bruner, representation involves encoding action based
information and storing it in our memory / ﬁﬁw & SR, yfafAferea o
wmwmmmmm%msﬁmmﬁm%mm

1. Iconic / UfagTRI®
2. Figurative / N REAIRED

3. Enactive / E:I'm
4, Symbolic / UdidhTED

Correct Answer :-

« Figurative / JTBIND

11) Principle of ‘zero rejection’ means — / ‘X[ SEAIHTd BT Rrgiar w134 3 -

1. no child with disability will be denied opportunity to education. / Tt it faai o= @I Riem & s@aER 9
dfaa T8t foear SEm|

2. no child with disability will be discriminated upon. /fapit H} fGaaT S & Y VgHTa Tl
foar S|

3. no child with disability will be given admission. / f&ail 4t faaaiT = &1 yawr Fa1 faar smem|

4. no child with disability can be served in regular school setting. / et 4t fe=iT 9= &1 fFafid
e Tvem & Y foar S g g1

Correct Answer :-

« no child with disability will be denied opportunity to education. / &t +ff faaiT o= &1 e & SR ¥
dfera T fosar S|

12) The Big five personality traits is also known as /a%, U Afdid A& BT
& 9§ Wt ST ST @

1. BROOK scale / §ab ¥l

2. RIVER scale / aR ¥hdl

3. OCEAN scale / 3{IRT Wbal
4. CANOI scale / Eb_"né hd

Correct Answer :-
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« OCEAN scale / IR ¥ d

13) The famous psychologist who established the study of genetic epistemology which
explains the process of how people develop cognitively from birth throughout their lives is: /

98 URIs AAlag—e SRR SMIdfRie IH-USia a & 1eaa= &) RITYT 31, S 39
ufspar &\ saTE Hd1 ¢ & [ R aafet siiaw i o1 @ |3de U d
fawfiasd e a8

1. Arnold Gesell / 3FTcS T

2. BF Skinner / &I Uh PR

3. Howard Gardner / B1aTS 6K
4. Jean Piaget / S foamst

Correct Answer :-

+ Jean Piaget / Si oSt

14) The cells in the body that conduct information to and from the brain are: /R H

FIRPIY ol AfRTP | 3R ST AT ISR BT Tara Hed! €, e g &
1. Reproductive cells / TSI DIRIBTY

2. Muscle cells / ATGURNG SIRIBTY

3. Nerve cells / AT ITRIBTY

4. Blood cells / 3ad BIRIBTY

Correct Answer :-

« Nerve cells / GIECA m

15) Assuming another person’s perspective is known as: / ot sy aafda & e v 31
UG AT 3:

1. Role strain / Yf¥ehT gaTd ([1d W)

2. Role making / 4T @10 RIet Afd)
3. Role distance / H[H®T g3l (R1d f& )
4. Role taking / YfHHT & (] <fdb)

Correct Answer :-

« Role taking / 4f&T o1 RId <fdb)
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16) Which sense takes the longest to develop? / foa ddga =t fasRya g1 o siftrwan
HHY AT 52

1. Smell / QIU'_‘H

2. Hearing / HHdl
3. Taste / ¥

4. Vision / TY

Correct Answer :-

e Vision/ %’f@

17) Which of the following is the final stage of reasoning in post-conventional morality

according to Kohlberg? / FfufafRa g s Plgadtl & IR IWR-ABHTd
Afaear & 9@ &7 Sifad aRor 32

1. Morality of universal ethical principles / grdafed Afae J-CLQ'H\I' DI Afdesd
2. Morality of contract / THIA Bt Afddar
3. Orientation toward punishment and obedience / GUS 3R ST BI 3R SIh

4. Social concern and conscience / HTHTITED Hslj‘l-ﬂ%f 3R faa®

Correct Answer :-

18) Grade Acceleration is recommended for educating the children. / =i DI

Rrféra o & e U w@vor ot Rywifer it wrdi 81
1. Normal / QTR

2. Disadvantaged / dfd

3. Gifted / UfAHTRITS!

4. Backward / [USS

Correct Answer :-

. Gifted / UfHTRITG

19) According to Freud, the term hysteria describes:/ WIS & AR, fTar s &7 ord

&
1. A phobia of animals./ SR} 1 Uh Bifadl
2. A phobia of people / S| Udh Hiferan
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3. The physical reaction to mental trauma./ AHRID 3MTard & o ARG Uidfoar
4, The physical reaction to emotional trauma/ HId"IHD AHTHTd %ﬁ‘lﬁ RIS ufdfdar

Correct Answer :-

« The physical reaction to emotional trauma/ HId"IHD AHTTd %ﬁ‘lﬁ RIS ufdafear

20) Behaviorism was founded by / TAERAIE 5% gRT XTI far war ot
1. Tolman / TIdHA
2. John B. Watson / 119 &t .aTcEH

3. B. F. Skinner / &1.U% RFR
4. Thorndike/ul:‘3|$$

Correct Answer :-

« John B. Watson / SI[F &l .dTcqH

21) Which of the following is not a characteristic of the discussion method of instruction?

/Pt § @ w1 fAdw & fouR vy @ v fagiuar 71 82

1. The learners are trained for reflective thinking. /ﬁ&ﬁﬁﬁﬂﬁﬂﬁﬁﬁ%%ﬁ OfRrférd
foar ST g |

2. It involves competitive cooperation. /gﬂﬁm%ﬁw e %I
3. It is an oral and written method of instruction. / dg ﬁé?l ﬁwﬁm GﬁT%@Hq&’ﬁ%I
4.1t is a group centred process. / I8 U UHfe® dbfad Uikl |

Correct Answer :-

« Itis an oral and written method of instruction. / g ﬁéQI ﬁwﬁr@w ﬁ?%@ﬁq@{%%l

22) The shape of one’s nose is determined by: / fFet o 1 BT MHPR m g1 fAuffea

BT o:

1. Geography / {Td

2. Environment / TTTGR 0T
3. Heredity / 3{TaRIehdl
4. Culture / GEHIdl

Correct Answer :-

« Heredity / 3TdRIbdl
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23) Learning should be focused on: / fRRTH UR &= $fea far s =nfeu:
1. what child is learning / ST o7 3{feATH B IGT @

2. performance / BEAE

3. getting job / B T AT

4. marks/grades / 3{/ Us

Correct Answer :-

« what child is learning / ST T ST P I|T 8

24) According Jean Piaget, children develop abstract logic and reasoning skill during ./ S formst

PATAR, PSR =1 | 3 b 3R dch PIret fapfd gian g
1. Concrete operational stage / @W SHAWT

2. Formal operational stage / 3‘IHT‘T i aTdd SaeT

3. Preoperational stage / qj_ b AT D a1

4. Pleasure / 31T-G

Correct Answer :-

 Formal operational stage / 31"1?? TichaTdh AR

25) The method which is based on the fact that students learn association, activity and
cooperation is known as: / 98 faftl St 371 9uf R enuria gt @ f5 o It wfafafyr six
TganT Whad §:

1. Problem- solving / JHXI- JHIYUTT
2. Project / SIS

3. Demonstration / TG

4, Discussion / foar-fowsf

Correct Answer :-

. Project / GaISHT

26) Inclusive education requires that schools should be free from the effects of negative

forms of ./ gHTaxh e & fore smawae g & faemay, F TPRIHAD Ul
& YU I gad B |

1. Imbalance / 3 EJa
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2. Differentiation / 3{ddh ¢l
3. Diversity / fafaear
4. Discrimination / U&UId

Correct Answer :-

« Discrimination / U&UId

27) A commercial advertisement of food produces saliva in our mouth. This is because of
./ mﬁﬂ;ﬁwmmmﬁgﬁmmmmél ELEAE S
=l

1. Operant conditioning / JRE HelRHT

2. Sign learning / Uciidh S{fERTH

3. Classical conditioning / FATRIB S el
4. Latent learning / & SHfeRTH

Correct Answer :-

« Classical conditioning / FATRID DRI

28) helps the visually challenged people to read and write using finger tips and

special aids. / FEH AN B el B R ((hRfew) ok faxiy Treq & Iuahr
SR UgA 3R foram & gTadl wrar gl

1. Lovass / JdI¥
2. Braille / i@

3. Idea books / faTR Q¥ad (3Msfear o)
4, Idea starter / fooR URH® (Gﬂg%l'ﬂ E'I_&)

Correct Answer :-
 Braille /aﬁ
29) CANCELLED

According to John Dewey, the teacher plays the role of a in the learning process. /

ST $dt & YR, Rr&re ST ot ufshar o ver o YT Auar g1
1. Guide / AT eRi®
2. Facilitator / JAYUR

3. Partner / 9Tt
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4. Philosopher / GRIFRIT!

Correct Answer :-

« Partner / 1t

30) CANCELLED
Stress affects learning negatively by: / 19 TPRIH® FU A @A ) yHIAId Ha1 21
1. causing learners to act out or zone out./ f?r&rrﬁfq‘r Ca Eh—ITf P DB %ﬂ PIEGEZGI

2. teaching learners to improve their behavior./ 3+ HdgR | gUR HH & forg Rrenfial &1
UglHIl

3. encouraging learners to discuss their problems with peer. / T & 1Y 37! qHWTSM TR

EEIEZSEARMREIRRIEIR ISR

4. releasing adrenaline./ Q%'-Ilﬂlsr'-l STRT BT |

Correct Answer :-

« causing learners to act out or zone out./ fQT&‘ITW Cal Eh—ITf CRCE: %ﬂ U H1

Topic:- General Hindi (L1GH)

1) AIYGSRT A (U HHRER B T HIST g9a18 81 39S THA ggd gera-1 Fiftan +ft evmarar g1 39t
Tﬁnﬁagaim?.lWaﬁwqﬁ%sﬁ?mﬂngﬁwélwsﬁvﬁr%m%lqm—ﬁﬁ IHTEl
Y gl ° @ BRI # ITedr g31T U 32 98 SreST avrar 8 | g9y WY 39 Uy 1w B | W B o
a1 ot e} Ta ATt @ SR MU F3 91 BT 31 AT & 99 B! & JIeR gk W 96T SAaIdh U &
TER 98 T IR 934 § 3R upfa 3t Ber fAera 81 379 9t 39% 74 &) gft et 81 i gu ot 3=
famiig-waf ®va g, 78 a9t U 32 gU BRif 5o Ft Hew F Yg A Ry wara € wara o Jun #) W Ft
Yifer ToiR 3 &1

SUa TN DI UgH A1 fAT 7T uHi & IR s

R B B g dE I 1 ard 82

1. Hgfe

2. faemg

3. BIY
4. 3D

Correct Answer :-

2) UIYTSTH A U WHRER &1 T HISY a1a1s 8 | 3qP WA ggd Gera-1 aufar ft eraman 31 39!
mﬁagaﬁn%l o B HU T 3 3R oTTT g &1 71 81 Frax AT & areHt F 1 wa-uie, It
T gl # o BaaRl A ITAdT §3HT U 3= 9gd 33T TTdT ¢ | 99y WY 39% U H1w 31 M B o
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o &Y Rft 7@ el @ SR MU 5 1 FT1 81 SI1aT 8 99 HIST F 916 IgaR W e SAATH G &
TER 98 e WX 964 ¢ MR Upfa Ft Ber Fera &1 378 9 39 u4 &1 9ita fradt 31 i gr at o=
fae-waf ®va g, 78 a9t U 3 gU weif 5o 3t e F Y A Ry wara 8 wara § Jwn #) Wy $i
Hifd ToIR 3a &

ST TR P UGB 1 3T ¢ uei & IR Farsd

US: AT’ & YIigar} e 81 82

1. 94

2. AR

3. &R

4, P

Correct Answer :-

3) WIYGSN A U HRTR &1 Tt 1) 97918 8 | ITP T 959 ara1 iran off erraran g1 396!
Wﬁagaawélﬂqaﬁwqﬁ%aﬁvwgqﬁw%lwaﬁ‘wﬁr%amélw-ﬁ& IPHTfaal
T gl # o BaaRl A ITAdT §3HT U 3= 98 3531 &TdT ¢ | 99y WY 39% U S1w 31 M B &
o &Y Rft 7@ el @ SR MU 5 [ P 81 SIIal 8 99 HIST & 916: Igay W & SAdrh A9G &
HER 98 TollE IR o4 § 3R Upfa & Ser fFeRd &1 3790 ar) 37 949 31 it frerdt 81 i gu adt s
fag-=af ®vd g, 78 af U 39 §U Rif ga $t Hew $i g A o wura 8 wara § Y &) Wy $i
yifa TR ¢4 B

Iued TR B UgHR A AT 1T usl & IR adrsd

UL: ‘e’ BT Ygiaar W 81 82

1. go

2. 1Y

3. g
4. qY

Correct Answer :-

4) WIS A AU WARER Ft T0 SIS} I9915 21 ITS T 9gd GeTa-1 guiran W} erarn g1 3951
AT Y 9gd U 81 99 B 78 | 3R saw g Y T 81 e e & srett §1 wa-uie, IwTfaal
9 Bl § T BaR| | ITAdr g3 U 3¢ 9gd ST aTal 8 | 99 o 3% U HTWY § 1 WH B o9
o7 Ft et Ta Tt @ SR MU F3 I BT 8 W4T 8 99 SIS F I16R IgR W 96T SAdId? WG &
TER I8 TR W 964 § 3R Upfa 3 Ser Fera &1 3798 9 371 94 31 gftd frerht 31 e guadt s= =
faie-=af #3a &, 7Y @ Uy 7 gU wRif g5k ot Hed B Y A fou wura § @ura § e & W@y $t
yifd ToR 34 B

SUa TN DI UGHR A1 AT 7Tyl & IR s

;e | T aread 82

1.me$mﬁwﬁaﬁw
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2. 9cTs I1 WIe s e
3. T HUs
4. d Bt I arelt Alax

Correct Answer :-

o BT AT Yd b YN Y §1 JIeT fosrad

5) HIYGET 7 U TIHRWR &1 Tt H1dt a1a1s 81 39S AW ggd era-T Siftar +ff ararar 21 39t
AT 95 U9 71 99 Bt HHY L B 3R A g 1Y T 1 Ge® AR F st €1 wa-ui, ywrfaat
¥ gl § @ ARl § ITddr g3 U 32 98 3reST avra 8 | gud Y 9% URT 1w B | W 61 o
o7 Ft et Ta STt @ SR ST F3 ¥ BT 8 WIaT 8 99 P11 F 916R IgaR W 9T SAdId? U &
TER I8 TR W 354 § 3R Upfa 3 Ser Fera &1 3798 9 371 94 31 gitd et 31 B guadt s9 =
faie-=af #3d g, 7Y @ Uy 7 gU wRif g5 ot Hew B Y A o wura § wura § W & Wy $t
yifd ToR 34 B

ST TN DI UGHR A1 AT 7T uHi & IR s

UL: IR Wg A A A |2

1. faqztt

2. dH

3. dad

4. TR

Correct Answer :-

6) WIS 7 U TR @1 Tt HIdt 9a1s 81 ITP JWA ggd era-T Sif=r +ff errarar 81 391
AT N 954 U9 31 ¢ Bt HHY T8 | 3R v g 1 T 1 Gee® NI F St €1 wa-uie), yrfaal
Y gl ° @ PRl # ITedr g31T U 3% 98 35T avraT 8 | gy Y 3% Uy S1w 1 W 61 o
a1 ot e} ga ATt @ SR ST F3 91 BT 8 AT 8 99 P11 & 91eR Igak W 96T SAaId U &
TER 98 T IR 934 § 3R upfa 9t Ter fAerd 81 379 9t 39% 749 &) it et 81 i gu ot 3=
famiig-waf ®wa g, 78 9l U 3 gU il 5o 3t Wew 3 Y A Ry wara 8 wara # i #) Wy $t
Yifer ToiR 3 &1

IUad TN DI UgHR A1 AT MU uHi & IR s

URH: XTH & YUY $T €9 ST a1 22

1. $ad UM Hs T 61 81 ST &

2. o T B i g o B

3. foT ot miif & STt R SR S %% 31 &1 81 SIIar 8; At

4. &7 &1 il 91 SIrclt §

Correct Answer :-

. fe7 @t Tl o S @ SR SMHM 63 T 61 81 ST |; Sl
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7) WIS 7 U TR &1 Tt H1d} aa1s 81 39S JWA ggd era-T Sftar +ff erarar 81 39!
?ﬁnﬁa@aﬂtr%lmaﬁmﬂﬁ%aﬁquqﬁw%lwsﬁxﬁr%m%lqm—ﬁﬁ IpIfaay
T Bl § @ BRI B SoddT g3l U 3 agd 3resT avrar 8 | 9ud ff 3996 Uy 1wl 81 ITH &1 o
a1 ot e} ga STt @ SR ST ®3 39 BT B AT 8 99 B! &b 18R gk W 96T SAaId? UH-e &
TER 98 Mo IR 954 & 3R UPpfd F1 Ber Ferd &1 398 A 39 74 &) git e 81 i gr at =
famie-waf ®va g, 78 a9l U 3 gU weif 5o 3t Wew 3 Yg A Ry wara 8 wara § I «) Wy $t
yife TR 3§

ST TR $ UGB I 3T ¢ uei & IR Farsd

;SRR oift @ 82

1. Uy

2. PRD

3. fof

4. IugH

Correct Answer :-

8) WIS A AU TRRWR Ft T F1d} §9a18 31 ITP A 959 Gara-1 itan ff errarar g1 39!
AT 95 U9 81 99 Bt HHY L B 3R Iy @ 1Y T 71 Ge® AP F ot €1 wa-uid), Ywrfaat
T gl # o bRl A ITAdT §3HT U1 3= 98 3551 &TdT ¢ | 99 WY 39% U STw 31 M B &
o &Y Rft Ta Srelt @ SR MU 5 1 P 81 SIIal 8 99 BT & 918: Igay W e SAdIh A9G &
TER 98 TTeid W o4 & 3R vpfa &1 Tl fFeRd §1 3799 AFl 399 74 &1 git fradt 81 fi gu at 3+
fag-=af ®vd g, 78 af U 39 §U Rif go 3t Hew $1 g A G wara 8 wara o Y &) Wy $i
uifa TR ¢4 B

IUYT TR B UgHR A4 QT TT Ui & IR 13 =

U: UIaeN f5y UoR & et 82

1. g =T arad

2. 3T 311Gl arat

3. fAdH qfe fare o

4, R R IR g

Correct Answer :-

. R SR AT

9) WIS A AU WRRER Ft TA SIS} I7a15 31 ITS AU 959 GeTa-1 guiran W} erarn g1 395t

AT N 954 U9 71 99 Bt HHY T B 3R v g 1Y T 1 Ge® NI F st €1 wa-uie), yrfaat

¥ gl § @ PRl # Ioddr g3 U 32 98 35T avra 8 | 9ud Y 9% URT 1w | W 61 o

o7 Ft et T@ Tt @ SR MU F3 I BT 8 WGl 8 99 P11 F 96R IgaR W 96T SAdId? WG &

TER I8 TR W 964 § 3R Upfa 3 Ser Fera &1 3798 9 371 94 31 gitd frerht 31 e gudt s= =

mz-aafggg%}Hﬁﬁmr@@mﬁgﬁﬁmaﬁﬁgﬁmmﬁmﬁﬁwaﬁwaﬁ
TOR 39 71
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IUYT TR B UHR 14 3T TT Ui & IR 9a1sd =
U: HIYGS D HIST & ATHA FT UT?
1. ST

2. SRy

3. Hed
4, FT

Correct Answer :-

10) HIYFSTH 7 (U TARER B 70 1S} 77413 81 TP T ggd Jera-1 st +ft erarar g1 395!
AT Y 9gd U 81 99 B 8 | 3R saw g 1Y T 81 e i & setht §1 wa-uie, IwTfaal
¥ gl § @ PRl # Soddr g3 U 32 98 35T avra 8 | gud Y 9% URT 1wl B | W 61 o
o7 Ft et Ta STt @ SR ST F3 3 BT B WIaT 8 99 P11 F 91eR IgaR W 9T SAdId? WG &
TER I8 TR W 954 § 3R Upfa 3 Ser Fera &1 3798 9 371 94 31 it et 31 e guadt s9 =
faie-=af #vd g, 7Y @ Uy T gU wRif g5 ot Hew #) Y A fou wura § wura § W & Wy $t
yifd ToR 34 7

STa TN DI UGHR A1 T 7T uHi & IR s

UR: HIYGSR $! T 9gd 33T T 82

1. BRI T I ddl g3 Ul

2. TYR TR I3

3. HYAq -1

4. UHTd B BT FERAT

Correct Answer :-
. WeIRI | IBeldl g3 Ul

11) WIYGSRT A (U WRIR B T HIS g9a18 81 TP oA 9gd Jera-1 Siftan +ft evmarar g1 39t
AT N 954 U9 31 99 Bt HHY 7L B 3R g g 1 T 1 Ge® AR F amreft €1 wa-uie), yrfaal
Bl § T BaR| | ITadr g U 38 9gd ST Tl 8 | 99 o I U HTHY § 1 H $i o
a1 ot e} ga Tt @ SR ST F3 91 BT 8 a1 8 99 P! & 91eR IgaR W a%d SAaId U &
TGN 98 T IR 934 § 3R upfa 9t Ter fAerd &1 379 9t 39% 74 &) it et 81 i gu ot 3=
famig-waf ®wa g, 78 9t U 3 gU weif 5o 3t e F Y A Ry wrara 8 wara § Jwn #) Wy Ft
Yifer ToiR 3 &1

IUa TN DI UgH A AT 7T uHi & IR s

U=: HIYGSN ®i fhd e & 09 41?2

1. ®I3T
2. YRR

3. Pl
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4. =T

Correct Answer :-

12) HTYGERT 7 3T FTRER B T HISY aa1s 81 ST WHA Igd Gera-1 aiftan oft eraman 1 39t
AT 954 U9 81 U9t HHY L B 3R I g 1Y T 71 Ge® AR & ot &1 wa-uid, Yt
T gl # o BaaRl A ITAdT §31T U1 3= 98 33T @TdT ¢ | 99y WY 39% U HTw 31 M B o
o &Y ft Ta el @ SR MU 5 [ F1 81 SI1aT 8 99 HIST & 916R IgaR W e SAAh HG &
TER 98 TTeid W o4 & 3R wpfa &1 Tl fFera §1 399 Al 399 74 &1 git fradt 81 fi g at 3+
faeiig-wat ®vd g, 78 91 U I gU il g9 3t e 3t Yo A Yy wura & wara o o &) W $it
Yifd TaR 34 B

ST T DI UgHT A fIT ¢ Ui & IR qarsd

WR: ATYaSr 31fde U q F9 2

1. 3&H

2. YT

3. fAeq
4. 3T

Correct Answer :-

13) HIYGERT 7 3T ITHRER B T HIS} aa15 81 ST AW Igd Jera-1 aviar oft avamn g1 39!
AT Y 9gd U 81 99 &) 78 B 3R saw g 1Y T 81 e Sifisfy & sretht &1 wa-me, IdwTfaal
T gl # o BaaRl A ITAdT §31T U1 3= 98 33T &TdT ¢ | 99 Wi 39% U S1w 31 M 6 &
o7 Ft et T@ STt @ SR MU F3 391 BT 8 Gl 8 99 P11 & q18R IgaR W T SAdId? UG &
HER 98 T W d6d ¢ 3R Yhfd 31 Tel FgRd &1 5798 AF1 39 74 3t gicd fredt 31 firy g af s+
fae-=at ®va g, 78 a9l U 39 U weif g9 3t Wew 31 He A v wara € wara § Y &) W $t
yifd TaR 34 B

ST TN DI UGHR A fIT ¢ uHi & IR s

U HHEE P HER TN W I 9347 2

1. fo

2. HIYgar
3, AIYdE & URARIoH
4, HIYGTEY

Correct Answer :-

o HIYdQH
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YT A 3T TR Ft T FISY 97918 31 SYF A 9gd JeTa-1 S o Traman 31 396 sar
Y 95 99 81 49 B H 8 3 SR g g A8 mar 21 Geew s & anert | pa-me, wwifaa @
BVl ¥ o PaR] W 3TAdT g3 U1 3= 954 33T aiTdT 8 | JHY ot 39 UTH HTW! 81 XM &Y oiF fad
P TR T ST 8 3N YA P I BT Bl Sl & 99 D1 &b d16R Agak W 987 SAAIDHR HHG &
TER 98 T IR 934 § 3R upfa 9t Ber fAerd &1 379 9t 39% 74 &) i et 81 i gu ot s+
famig-waf ®wa g, 78 9t U 3 gU il 5o 3t Wew F Y A Ry wura 8 wara § i #) Wy Ft
Yifer ToIR 3 &1

ST TN DI UgH A1 AT MU uHi & IR s

URH: A PT WANT {59 w0 & giar 82

1. e & =9 d

2. AR B EIY

3.MEH ®aH

4. dipd B =UH

Correct Answer :-

. AP HEUH

15) HTYGERT 7 (U1 FTHRER B T HISY aa13 81 ST WHA Igd et aiftar oft eraman 31 39+t
AT A 95 W9 1 47 B B T | 3R s g T T @1 geew R & snert €1 wa-nd, wwifaat
¥ gl ¥ o BaaRl A ITAdT §3HT U1 3= 9gd 331 @IdT ¢ | 99y WY 39% Uy ST 31 M B 5
o Y Rft Ta el @ SR MU 5 1 F1 81 SIIaT 8 99 HIS) & 916 IgaR W e SAAH G &
TER 98 TTeid W 354 & 3R upfa &1 Tel fFeRa §1 399 M) 399 74 31 git frad 81 i g at s+
famiig-wat ®vd g, 78 91 U IQ §U WRif g9 3t Hed 3t Yo A T wura & wara o o &) W $t
Hifer ToiR 3 €1

ST TR $ UgHR i feT ¢ usi & IR Farsd

U : fae Uit ST WITHRER & aarg?

1. HIYdq

2. HIYdIqr™g

3. HYdqy

4. HIYdIGTH

Correct Answer :-

o HIYdQ™

16) UTad Bq Y, udd we,
ud-ud ufeafda ygpfa-asri

AGATHR Udd IR

3T T T-GHA BTS,
3qa® 8T § TR-IR

H oa | e 7o,
-foraes == # e ard
uor |1 thar g famen
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faf¥y &1 kg MR IR-3R
e H F99-9 Iiford B
ot &) afeal @ g
R © 9rT R fAsie

ST RIS ®1 Ugd -4 fr T gl & IR Tarsy
U: Hfd B ORI Td fHad! avg a8 82

1. il 3! AfSTf BT IRG

2. UGTS Bl 314l &t RE

3. 98d 3R D1 AB

4. GUU &1 OB

Correct Answer :-

. UGTS & 3i1El HY g

17) uraq %q A, uda wexr,
yd-ud giafdd ypfa-a=n

AGATHY Udd 3UR

3T T T-GHA BTS,
3qe® 8T § TR-9R

H oa | e e,

-foraes =N # uer ard
uor |1 et g fawmen

i ®1 Mg e IR-3R
e # 999-9 I« ford H3
it &1 afsal @ gz
A & I R g

ST UL B UgdR A1 AT T¢ uef & IR 9a13d
WR: dd &1 yaigardt e 772

1. H9cl UGTS

2. Had A

3. had 3

4. IRIad g+t

Correct Answer :-

o SWRIad gt

18) Uray Fq Y, udd W,
yd-ud ufvafdd wefa-as

AGATHR Udd 3MUR
3T T -0 BTS,
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TP TET § TIR-IR
4R va § e HETeR,

-forad == & yar ara
dor a1 Sar @ fammen
fafy &1 kg MR IR-IR
e H F99-9 I«ford &R
it &1 afsal @ gz
A & I W g

Iued U=l B) Ugah? 19 AT 1T Y & IR garsd
U IR f5ad TR &1 19 TR % 872

1. dlefld

2. 71dt

3. QU

4. gad

Correct Answer :-

19) UGy FHq &Y, udd W,
Ud-ud ufvafdd yefa-ai

AGATHR Udd 3MUR

3 T T-JHA BT,
gl 8T ¢ TR-9R

H va A A "ETeR,

-foraes =a=on # uer a1
uor |1 B g fammmen
fafy &1 kg MR IR-IR
e # d99-9 Iford a3
ot &) afsal @ g
A § T W i

ST Ui ®1 Ugd - f3r T gl & IR Tarsy
U IRA Pt g [Had B TS 82

GIGICKS]

2. 4l 1 dfsai @

3. 89R QO ¥

4. gUUT Y

Correct Answer :-

. Al I arsa
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20) UTaw Bq I, udd uew,
Ud-ud ufvafdd wefa-asi

AGATHR Udd 3MUR

3T T T-JHA BTS,
gl T & TR-9R

R wia A A "ETeR,

-oras =R # yar ara
T 1 Ter @ fa=men

faf¥ &1 kg MeT IR-3R
e # 999-9 I«ford a1
ot &Y afsal @ g
A I W i

S eI Bl g -1 fr T uel & IR Tarsy
U: $fd A qrend 3 G (S e g2

1. it @

2. 34"

3. g Y

4, 79d 9

Correct Answer :-

21) UTaw Bq ft, udd ue=,
d-ud givafdd ypfa-a=n

AGATHR Udd YR

3T T T-GHA BTS,
3AIP 78T & TR-9R
I oa | A 7o,

-foraes =Ron ® yer ara
uor |1 e g fammen
fafy &1 kg MY IR-3R
e # 999-99 I«ford a3
Tt ot afsal @ gev
R @ oM R fasin

ST U B UgdR A1 AT T¢ uef & IR 9a13q

UR: UTaH B B upfa o H 11 ufkad= imar @2

1. Had gad o -I1d B aremel | gddl & IRSTs fedms sl g
2. Had T Fa fad o §

3. are] HIGH B 9ad Saadl 6|

4. SWRIad it
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Correct Answer :-

o SWRIad gt

22) UrEaw Bq &, udd uew,
ud-ud ufeafda ypfa-asri

AGATHR Udd IR

3T T T1-gHA BTS,
AP ITT § IR-IR

1 oa ® fAs 7geR,
-forad =N # yar ara
dor a1 Bar @ fammen

i &1 Mg M IR-3R
e H F99-79 I«ford &R
TRt ot afsal @ gev
R & I R i

Iuad U=IiRI B g 19 AT 1T Y & IR garsd
U: UTad Hg H UPpfd HTEI?

1. §gd TRH TS 3|

2. YIS B Al g |

3. §X &0 SCrdT 8|
4, TEi gEAd B

Correct Answer :-

. U TSAAT S

23) Uraw Bq o, udd udw,
Ud-ud ufvafdd yefa-ai

AEATHR gdd AR

3 A -GHA BTS,
3qai® 8T ¢ TR-IR

1 oa ® fAs AETeR,
-foraes == # uer ard
dor a1 e @ fammen

fafy @1 kg MR IR-3R
e # 999-99 Iford a1
o<t &) afeal @ g
4 T W s

ST U Bl UgHR A1 faT 1T Ui & IwR 9a15d
R gH o1 o 32

1. o
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2. 3T
3. ool

4. qY

Correct Answer :-

24) UT9d Fq o, uda v,
Ud-ud ufvafdd ypfa-ai

AEATHR gdd AR

3 A -GHA BTS,
3qa® 8T ¢ TR-IR

H oa # A HETeR,
-foraes == # uer ard
uor |1 e g fammmen
fafy &1 kg MY IR-3R
e # d99-99 Iforg a3
it ot afsal @ ger
R4 § 7 W sl

I Ui &1 UgH 14 fu T uel & SR 9a15d
TR e T-GHT BE A FT A= §2

1. $T9 9 PIs T8

2. TETSI IR el §oIRI Goetl &

3. U818 &I T 9

4. %l & qRIAH I

Correct Answer :-

. UgTSI W e golRl Bl 9

25) uTad g N, udd v,
ud-ud ufeafda ypfa-asri

AEATHY Jdd AR

3T T T1-gHA BTS,
AP ITT § IR-IR

4R oia ® e HETeR,
-forad == & yar ara
uor 91 et g fammen
faf¥ &1 kg MR IR-IR
e H F99-79 I«ford &R
it &1 afsal @ gz
A & I R s
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ST U B UgHR A1 AT 7T Uyt & IR 9a15a
U " BT AR T §2

1. HIST

2. YFer

3. BVIR
4. di9g

Correct Answer :-

26) UTaw Bq I, udd uew,
Ud-ud ufvafdd yefa-ai

NGATHY Udd 3UR

3T T T1-gHA BTS,
AP 78T & TR-9R
I wa # e HeTeR,

-orae =R # yar ara
dur a1 Ba @ fammen

fafy &1 kg MY IR-3R
e # 999-9 I ford a1
ot &) afeal @ g
4 T W i

I Ui &1 UgH 14 fu T uel & SR qa1sd
R e’ Weg A B 9 w82

1. fac=h

2. TR

3. ddH

4, Tgd

Correct Answer :-

27) uad %q &, udd v,
d-ud giafdd ypfa-a=n

AGATPR Udd IR

3T T T1-gHA BTS,
AP ITT § TR-IR
4R oia § e "R,

-forad == # yar ara
dur |1 Ther @ fa=men
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fafy &1 kg MET IR-3R
e H F99-9 Iiford B
ot &Y afsal @ g
R © 9rT R fAsie

S eI Bl Ugd -4 fr T uel & IR Tarsy
U: U’ By I T aed 8?2

1. 99d BJ

2. Usq 3%q

3. 9N Bg

4. A Bq

Correct Answer :-

28) UTaw Hq ft, udd udw,
yd-ud giafdd ypfa-a=n

AGATHY Udd 3UR

3T T T-GHA BTS,
3qe® 8T ¢ TR-9R

H oa | e e,

-foraes == # uer ard
uor |1 et g fammen
fafy &1 M9 MHR IR-3R
e # 999-9 I« ford o3
il &1 afsal @ gz
A ¢ T R g

ST UL B UgdR A1 AT 1T uef & IR 9415
UR: ST 6T § IR-IR’ | aad I T 32
LA

2. ST

3. &l

4.

Correct Answer :-

29) UrEaw Bq I, udd uew,
Ud-ud ufvafdd wefa-as

AGATHR Udd 3MUR
3T T -0 BTS,
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TP TET § TIR-GR
4R wa § e "R,

-orad =N # yar ara
dor a1 Sar @ fammen
faf¥ &1 kg MR IR-IR
e H F99-79 I«ford &R
it &1 afsal @ gz
A © I R g

Iued U=l B g 9 AT 1T Y & IR garsd
U W A g8l T &2

1. for

2. faemy

3. faRiy

4. T

Correct Answer :-

30) Uaw Bq t, udd udw,
Ud-ud ufvafdd yefa-ai

AEATHT gdd AR

3 T T-JHA BT,
3qaP BT & TIR-IR

H e ® fAs AETeR,
-foraes == # uer a1
dor a1 e @ fammen

fafy &1 kg MR IR-3R
e H F99-9 Iiford B
ot &) afsal @ g
XA © 9N R fAsie

ST U Bl UgHR A1 AT 1T Uyl & IwR 9a15a
U: it Weg A G | g
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Topic:- General English(L2GE)

1) Read the poem carefully and answer the question given below:

"You are old, Father William”, the young man said,
YAnd your hair has become very white,
And yet you incessantly stand on your head,
Do you think, at your age, it is right?”
“In my youth”, Father William replied to his son,
I feared it might injure the brain.
But, now that I'm perfectly sure I have none,
Why, I do it again and again.”
"You are old,” said the youth, "as I mentioned before,”
And have grown most uncommonly fat;
"Yet you turn a back somersault in at the door,
Pray, what is the reason for that?”
“In my youth,” said the sage, as he shook his grey locks,
"I kept all my limbs very supple,
By the use of this ointment, one shilling a box.

Allow me to sell you a couple. - Lewis Carroll

A word similar to the word ‘incessant’ in the poem would be:
1. continuous

2. periodical

3. ending

4. interrupted

Correct Answer :-

e continuous

2) Read the poem carefully and answer the question given below:

"You are old, Father William”, the young man said,
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YAnd your hair has become very white,

And yet you incessantly stand on your head,

Do you think, at your age, it is right?”

“In my youth”, Father William replied to his son,

"I feared it might injure the brain.

But, now that I'm perfectly sure I have none,

Why, I do it again and again.”

"You are old,” said the youth, “"as I mentioned before,”
And have grown most uncommonly fat;

"Yet you turn a back somersault in at the door,

Pray, what is the reason for that?”

“In my youth,” said the sage, as he shook his grey locks,
"I kept all my limbs very supple,

By the use of this ointment, one shilling a box.

Allow me to sell you a couple. - Lewis Carroll

How would you most likely describe father William?
1. A young, healthy sage

2. An old, fat sage

3. An old, fit, grey-haired sage

4. An old, fat, grey-haired sage

Correct Answer :-

» An old, fat, grey-haired sage

3) Read the poem carefully and answer the question given below:

"You are old, Father William”, the young man said,
"And your hair has become very white,
And yet you incessantly stand on your head,
Do you think, at your age, it is right?”
“In my youth”, Father William replied to his son,
"I feared it might injure the brain.

But, now that I'm perfectly sure I have none,
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Why, I do it again and again.”

"You are old,” said the youth, "as I mentioned before,”
And have grown most uncommonly fat;

"Yet you turn a back somersault in at the door,

Pray, what is the reason for that?”

“In my youth,” said the sage, as he shook his grey locks,
"I kept all my limbs very supple,

By the use of this ointment, one shilling a box.

Allow me to sell you a couple. ”- Lewis Carroll

What is the 'it' Father William is referring to in the given line?
I feared it might injure the brain

1. putting on excessive weight

2. having grey hair

3. trying a somersault

4. standing on your head

Correct Answer :-

» standing on your head

4) Read the poem carefully and answer the question given below:

"You are old, Father William”, the young man said,
YAnd your hair has become very white,

And yet you incessantly stand on your head,

Do you think, at your age, it is right?”

“In my youth”, Father William replied to his son,

"I feared it might injure the brain.

But, now that I'm perfectly sure I have none,

Why, I do it again and again.”

"You are old,” said the youth, "as I mentioned before,”

And have grown most uncommonly fat;

"Yet you turn a back somersault in at the door,
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Pray, what is the reason for that?”

"In my youth,” said the sage, as he shook his grey locks,
"I kept all my limbs very supple,

By the use of this ointment, one shilling a box.

Allow me to sell you a couple.” -Lewis Carroll

What most likely do you think is the objective of Father William?
1. To show the boy how healthy he is

2. To show the boy his agility

3. To prove to the boy that he is still young

4. To impress the boy and make a sale

Correct Answer :-

» To impress the boy and make a sale

5) Choose the appropriate pronouns for the given sentence .

aunt had a three-year-old daughter when lost husband.

1. His, they, her
2. Her, they, their
3. My, she, her

4. Their, she, his

Correct Answer :-
* My, she, her

6) Fill in the blank with the correct option in the given sentence:

The man was completely devastated and felt ________ all the time, after the death of his wife.
1. longingly

2. longed

3. lonely

4. loneliness

Correct Answer :-

 lonely
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7) Which of the following options best combines the following sentences?
He is very old. He cannot walk.

1. He is old and he cannot walk.

2. He is too old to walk.

3. He is very old enough not to walk.

4. He is so old but cannot walk.

Correct Answer :-

» He is too old to walk.

8) Choose appropriate articles for the given sentence:

Jaipur is ___ beautiful place to visit provided you have __ proper information of places.
1. a, the

2. an, no article required

3. the, a

4. no article required, a

Correct Answer :-

9) Choose the appropriate option that rewrites the given sentence in its active voice.

Their lessons are being learnt by them.
1. They are learning their lessons.

2. They are learning lessons.

3. They were learning their lesson.

4. They learnt their lessons.

Correct Answer :-

¢ They are learning their lessons.

10) Choose the appropriate synonym for the highlighted word in the given sentence.

I paid her a compliment on her getting the first place in the university examination.
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1. flattery
2. tip
3. praise

4, reward

Correct Answer :-

e praise

11) Choose the appropriate tenses to fill in the blanks in the given sentence:

We can out now. It any more.

1. went, didn't rain

2. going , doesn't rain
3. go, isn't raining

4. never go, isn't raining
Correct Answer :-

e go, isn't raining

12) Choose the appropriate antonym for the highlighted word in the given sentence.

That mistake was a result of crass incompetence!
1. careful

2. insensitive

3. vulgar

4, refined

Correct Answer :-

o refined

13) Choose the appropriate conjunction for the following sentence:

He showed a lot of promise in his new job his manager gave him a quick promotion.
1. because

2. as


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

3. and

4. but

Correct Answer :-

14) Choose the appropriate prepositions for the given sentence:

Let's be straight each other and don't jump conclusions.

1. against, for
2. with, to
3. at, through

4, for, into

Correct Answer :-

o with, to

15) Choose an appropriate modal for the given sentence:

you pass me some salt, please?
1. Might
2. Must
3. Could

4. Should

Correct Answer :-
e Could

16) Choose the option that best explains the highlighted expression:
Your little brother is a pain in the neck.

1. atoddler

2. a chatter box

3. a big bore

4. a big nuisance

Correct Answer :-
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e a big nuisance

17) Choose the option that best transforms the sentence into its Indirect form:

‘Beware of pickpockets,’ said a huge notice.

1. A huge notice instructed us to be aware of pickpockets.
2. A huge notice is warning all the public to beware.

3. A huge notice warned us to beware of pickpockets.

4. A huge notice has claimed us to beware of pickpockets.

Correct Answer :-
» A huge notice warned us to beware of pickpockets.

18) Choose the option that substitutes the given phrase appropriately.

That branch of physics dealing with movement and force

1. Static
2. Dynamics
3. Electricity

4. Energy

Correct Answer :-
¢ Dynamics

19) Read the sentence carefully and choose the option that has an error in it:

We were officially notified of the newly public holidays.
1. officially notified

2. of the newly public holidays.

3. We were

4. No error

Correct Answer :-

« of the newly public holidays.
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20) Read the sentence carefully and choose the option that has an error in it:

Just before he died, my friend who writes books published his second book.
1. my friend who writes books

2. published his second book.

3. No error

4, Just before he died,

Correct Answer :-
» my friend who writes books

21) Change the given statement to indirect speech.

“If you refuse to hand over the car, I will cancel its registration,” said the officer to the woman.
1. If you refused to hand over the car, I would cancel its registration said the officer to the women.

2. The officer told the woman that if she refused to hand over the car, he would cancel its registration.

3. The officer told the woman that if she refuse to hand over the car, he would cancel its registration.

4. The officer warned the women that if she refuses to hand over the car, he will cancel its registration.

Correct Answer :-
» The officer told the woman that if she refused to hand over the car, he would cancel its registration.

22) Read the following passage and answer the question given below:

‘When you buy a car, examine carefully the important features of the model you are considering. Many a
buyer of the latest models have got into trouble by buying a car too broad or too long for his garage.
Furthermore, a longer car is much harder to manoeuvre in traffic and much more difficult to park.
Another feature is the comfort afforded. Are the seats nice and durably upholstered? Is there enough glass
area to give the driver a good view in all directions, particularly the rear? It should be remembered that
the heavier and more powerful a car is, the more expensive it will be to operate. High-powered motors
require expensive high-octane petrol. The greater weight means greater tyre wear and enlarged brakes.
The old cliché is still true; it is not initial cost but the upkeep which matters!

It is very expensive to maintain a large car because it
1. is heavy

2. needs more durable upholstery

3. needs changing its tyres more frequently

4. requires more space for parking
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Correct Answer :-

e needs changing its tyres more frequently

23) Read the following passage and answer the question given below:

When you buy a car, examine carefully the important features of the model you are considering. Many a
buyer of the latest models have got into trouble by buying a car too broad or too long for his garage.
Furthermore, a longer car is much harder to manoeuvre in traffic and much more difficult to park.
Another feature is the comfort afforded. Are the seats nice and durably upholstered? Is there enough glass
area to give the driver a good view in all directions, particularly the rear? It should be remembered that
the heavier and more powerful a car is, the more expensive it will be to operate. High-powered motors
require expensive high-octane petrol. The greater weight means greater tyre wear and enlarged brakes.
The old cliché is still true; it is not initial cost but the upkeep which matters!

The author favours a car with a wide glass area so that the driver can
1. enjoy the scene outside while driving

2. display his beautiful upholstery with pride

3. have a good view of all sides

4. roll down the glass panes to get enough fresh air

Correct Answer :-

e have a good view of all sides

24) Read the following passage and answer the question given below:

When you buy a car, examine carefully the important features of the model you are considering. Many a
buyer of the latest models have got into trouble by buying a car too broad or too long for his garage.
Furthermore, a longer car is much harder to manoeuvre in traffic and much more difficult to park.
Another feature is the comfort afforded. Are the seats nice and durably upholstered? Is there enough glass
area to give the driver a good view in all directions, particularly the rear? It should be remembered that
the heavier and more powerful a car is, the more expensive it will be to operate. High-powered motors
require expensive high-octane petrol. The greater weight means greater tyre wear and enlarged brakes.
The old cliché is still true; it is not initial cost but the upkeep which matters!

The size of the car should be in accordance with
1. the width of the road where the buyers lives

2. the size of the garage the buyer has

3. the volume of the traffic on the road

4. the money one can afford to pay

Correct Answer :-
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« the size of the garage the buyer has

25) Read the following passage and answer the question given below:

‘When you buy a car, examine carefully the important features of the model you are considering. Many a
buyer of the latest models have got into trouble by buying a car too broad or too long for his garage.
Furthermore, a longer car is much harder to manoeuvre in traffic and much more difficult to park.
Another feature is the comfort afforded. Are the seats nice and durably upholstered? Is there enough glass
area to give the driver a good view in all directions, particularly the rear? It should be remembered that
the heavier and more powerful a car is, the more expensive it will be to operate. High-powered motors
require expensive high-octane petrol. The greater weight means greater tyre wear and enlarged brakes.
The old cliché is still true; it is not initial cost but the upkeep which matters!

According to the author, two factors that the buyer of a new car should keep in mind are:
1. Its upholstery and glass area

2. Its colour and upholstery

3. Its size and comfort

4. Its price and size

Correct Answer :-

e Its size and comfort

26) Fill in the blank with the correct option in the sentence:

She acted as a peace-- between her squabbling children.

1. --sign
2. --ful

3. --fully
4. --maker

Correct Answer :-

e --maker

27) Fill in the blank with the correct option in the given sentence:

When I make a mistake, I am said to --calculate.
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1. mis--
2. dis--
3. over--

4., un--

Correct Answer :-

e Mmis--

28) Fill in the blank with the most appropriate preposition in the given sentence.
Turn the lights outside. We don’t need them.

1.1in

2. on

3.at

4, off

Correct Answer :-
o off

29) Choose the most appropriate determiner for the given sentence.

He gave of us advice about our present goal.
1. each
2. every
3. much

4, the whole

Correct Answer :-
e cach

30) Choose the right tag:

It rained this morning, ?
l.is it
2.isn't it

3.did it
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4, didn't it
Correct Answer :-

o didn'tit

Topic:- Social Science (SSC)

1) Match the following Education Centre with places.

1 Nalanda A Bengal

2. Somapura B. Kashmir
3.Jagaddala C.Bihar

4. Sharada Peeth | D. Bangladesh

| TFATeTad TRI&TT hal ol Tl & o Fde ax
1. ATelgr AT

2. AR | B.5w¥HR
3. SEger | C.TEBR
4, ARG Uia | D. diaeeer

1. 1-A,2-B,3-C4-D
2.1-C,2-D,3-A,4-B
3.1-C,2-B,3-A4-D
4.1-C,2-B,3-D,4-A
Correct Answer :-

« 1-C,2-D,3-A4-B

2) The major disadvantage of dramatization is: / ATCHII FUAR BT G TH AT gl

1. It is not suitable for all subjects and topics / I8 T fawal 3R T & fog SUgad K]
2. It improves group cohesion / T8 Tg HT H YR FHRT 5|
3. It promotes self-confidence / T8 THTYT DI TgTal gl gl

4. It provides opportunity for self-expression / I8 TH-3HfafET & foTT 3faR U™ FHRaT 5|

Correct Answer :-

« It is not suitable for all subjects and topics / T8 T+ fawa 3R TR & forw JUYdd TS |
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3) Which one of the following is not a part of early Jains literature? /

fFrafafad § 9 19 e TRMYS 39 9t &1 T 181 82
1. Brihatkalpasutra / §ed® Uy

2. Acarangasutra / RRITYA

3. Therigatha / ORI

4. Sutrakritanga / gAHANT

Correct Answer :-

- Therigatha / QI

4) The Guptas issued silver coins known as: / 7@l A il & Riges vafea
53, g w1 oAt 8:

1. Karshapana / HYgr
2. Dinara / fARI
3. Pana /Ul

4. Rupaka /34Tl

Correct Answer :-

« Rupaka /3Ul®hT

5) When does Election Commission orders countermanding of elections? / g-Td ST

ATEl & Y B BT M Hd a1 82
1. In case of scuffle among contestants / Elﬁl@'m & & ETQTI'CI'ITSgc & AW H
2. In case of booth capture / g bl Eﬁe[ &I Rufa A

3. If nominated candidate belonging to a recognised party dies at any time after the last date of

nomination / Ife f&dt Argar ure urdf @ Tifid Iwficar &) amie o) sifaw fafdy & a1
fordft ot T g BT St ]

4, If a new party joins the contest / 37X ﬁ_bf H‘s‘uﬁw F’l@ef | iad E-)I?F[%I

Correct Answer :-

« Ifnominated candidate belonging to a recognised party dies at any time after the last date of

nomination / I, fordt AT U Ut T AT IFaR & A ot ifaw fafy & a1
foreit +ft g g 81 It 8|
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A Social Science teacher has developed an objective type test but she has a doubt about the
reliability of the test. What should be done to ensure the reliability of this test? / T JTHIT®
fagm Riere A v a8 TR F wlen Iaa F1 8, afth 38 when I fAyaaar wHeg 159
tgror B faga-aar e w3 & fore o fear sran afge?

1. Cut short the length of the test/ TR1&f0T B FWI'%W P

2. Increase the number of questions / U4l &' T IGI4

3. Try for test retest method / URV&U-G:URt&01 iy 71 U9

4. Divide the test into two halves / G1&0T &1 &l fg=di H faHTiorg &3

Correct Answer :-

« Try for test retest method / URI&UI-G: URt&0T fafe) o1 T

7) In which year did India face the Chinese aggression? / g af o yRa 7 A smHHOT
&1 |1 fpar?

1. 1955
2. 1964
3. 1962
4. 1965

Correct Answer :-

e 1962

8) Who acts as a link between the Council of Ministers on the one hand and the President as

well as the Parliament on the other? / Udh 3R "#huRug 3R m 3R TS & JATY-I1Y
Pufd & 919 TP B! & U H DI BT BT 57

1. Vice-President / B'CITI'gqﬁf

2. Prime Minister / G&TTHAT
3. Cabinet Secretary / Ffec gfiug
4. Parliamentary Secretary / T9eg Afad

Correct Answer :-

« Prime Minister / GUTTHAT

9) Who among the following is considered to be an architect of modern Social Science? /

Frafafaa o @ 5 snyfte armfsme fagm &1 ageR a1 ST 82
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1. Auguste Comte / 3R B
2. James High/@ﬂ“[%]’sc

3. Emile Durkheim / W‘g’@“ﬁq
4. Charles Beard / I 905

Correct Answer :-

« Emile Durkheim / 3ATSd g@A

10) Who was not part of ‘Navaratna’ of Akbar? / {HdX & 'aRd" BT %’\"\‘" CaC qﬁ Ur?
1. Birbal / SREA

2. Raja Todar Mal / XTIl creR Hd

3. Raja Bhara Mal / XTSI HIR Hcf
4. Tansen / A9

Correct Answer :-

 Raja Bhara Mal / XTSIl HR Hcl

11) Who used to be the chairman of Planning Commission? / YISET TN & A& CaC|

B 82

1. Comptroller and Auditor General / IBRECAEIN TeTeRal WRIedh
2. Commerce Minister / ATfONST HAT

3. Prime Minister / TeTTHAT

4. Finance Minister / ICLEEE

Correct Answer :-

e Prime Minister / U]

12) Who developed Sociometry as a technique for assessing relationships among members in
a social group? / T ATHTTS TG H TS| & a1 Hael| BT THA-T B3 & [o¢ Th dPp-i1b &
w0 d fa gaefafa o1 faera fear

1. J.L. Moreno /@T.QFT. AR
2. Max Weber / Hg dsR
3. Henry Murray / B} H%

4. John V. Michael / S dt. Alg®Hd
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Correct Answer :-

e J.L. Moreno/ @T.Qﬂ. AR

13) Akal Takht in Harmandir Sahib was built by: / XU AIRd H IHTA d%d PT
Frator f g foeam war

1. Guru Nanak / 7% A

2. Guru Angad / 7% 3fTg

3. Guru Hargovind / [® BUIEH
4. Guru Govind / [ Tfdae

Correct Answer :-

+ Guru Hargovind / T[® FUIEE

14) is the quantity of all goods of imports and exports in a year by a country. /

U ¢ gRT U 99 A 3mard iR fafa & gt arel St A g1

1. Tariffs / UR[eh
2. Volume of trade / TR GRHTUT

3. Quotas/aﬁa
4. Embargo | SATUR-YfRIY

Correct Answer :-

« Volume of trade / STIR GRATOT

15) implies severe indictment of the government though it does not require
resignation of the Council of Ministers. / &7 aread HIDPR » TR 3 umﬁw ﬁ' %,

graife g9 forw wiufiug & gxiits &) smazgewdr 78l 8|
1. Cut Motion / eld U&dTd

2. No - Confidence Motion / 3{fd4T TdTd

3. Adjournment Motion / HRIRAH TG

4. Censure Motion / ﬁET UIdrd

Correct Answer :-

« Censure Motion / g1 U@
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16) society feels concerned about meeting the needs of all its members. /

TS 3 Wt Hawt B oreval B R B & I | A war g
1. Egalitarian / GHMIYGRATG!

2. Elitist / Syfcare

3. Class Oriented / A7 34

4. Sectarian / JYGIRI®

Correct Answer :-

« Egalitarian / MG RATG!

17) is a process of increasing knowledge, skills and capacities of the people of the

country. / I F AN P T DI 3R AT B I¢M B TS Uiehar 2|
1. Human resources / HTd I

2. Human Capital Formation / HIFd Trﬂ o

3. Physical capital formation / Wifas tlfrﬁ fafor

4. Capital formation / Q\Gﬁ fator

Correct Answer :-

« Human Capital Formation / HId Trﬂ fmfor

18) The Rig Veda samhita denotes one-fourth of its hymns to : / FHide dfgar o Eﬂa? Uh-

TS WS B 1o forg =it T &:
1. Agni / 31¥

2. Indra / 3%

3. Rudra / ¥%

4. Marut / Hl®d

Correct Answer :-

e Indra/ 3_52

19) The matters or subjects of common interest to both the Union Government as well as
State Government are included in list / PG TRPR 3R I AP Eﬂ7'ﬁ & ﬁl’({
= fed &\ o fawg g ® wfa gid 71

1. Concurrent / Hﬂa?ﬁ


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

2. Union / 99

3. State / XY
4, Uniform / ThJHH

Correct Answer :-

« Concurrent / FITITJR‘W

20) The government of India established to coordinate the activities of all
institutions involved in the rural financing system. / HRd IXPR = ureftor fa sgawT o
wfae vt ==Y &t nfafafir & gv-aa & forg P T HI 2|

1. National Board of Agriculture and Rural Development / TI'@T[ Tfﬁf 3R uriur faeera oS

2. National Board of Agronomy and Rural Development / QTQ:IH w fasm 3R gl fasra s
3. National Bank for Agriculture and Rural Development / ?T@'q w 3R ITHT fapr d

4. National Bank for Agriculture Reconstruction Development / ?T@’q ?ﬁ[ ﬂ:l'ﬁQfUT EEARKED

Correct Answer :-

« National Bank for Agriculture and Rural Development / Tl'g:l'q ?ﬁf 3R grHior faerg g

21) The song Vande Mataram was first published in which text in 1882. / a%. HIAYH M

gl IR 1882 H fa Sraazur o UhTRIG gaim o
1. Anandamath / 314G T3

2. None of the above / dblglr,drl o3 d;l‘.f: EEl
3. Gitanjali / TTdTSITel
4, Gita Rahasya / IGIRGE)

Correct Answer :-

« Anandamath / 3F¢ {8

22) The method of learning in which the students are given an open question and they design

investigation methods to arrive at conclusion is known as: / A= @1 fafd foraw ol &1 v
ifafofa sy ferar wimar 8 3k 3 e wR ug=M & fore wiiw Akt ) fesisa w74 81 sifr et 59
TS B & U H A1 AT 7 |

1. Conformation inquiry / f&&=gur St
2. Guided inquiry / FERId Sirg

3. Open inquiry / gt EIEC|
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4. Structured inquiry / BNERRSIE]

Correct Answer :-

« Guided inquiry / FERd Sta

23) The main tenets of Mahatma Gandhi’s basic education is: / FgTHT il B Mifere Rram o1
7= i g

1. Education should develop a strong man / Ri&f & U HeIgd T &1 A H=1 AT
2. Education should be self-supportive / Rref sk g =gl

3. Education should be based on cultural and social heritage of the Land / R8T &t bt WW
3R 1o faRTad WR 3eid g1t =iyl

4. Education should be activity-centered / & Tifafafd-dsfad g mfeul

Correct Answer :-

« Education should be self-supportive / FRI&T STAFR g =R

24) The process of hiring an outside contractor, especially from foreign countries, to perform

their work is termed as ./ fodiu =0 9 fag=h ¢ A v a1edt SR @1 Fgea
W;ﬁm,mﬁ%a?ﬁﬂﬁﬁmmﬁ?mwﬁ & =0 § yRytiya ot
STl 81

1. Outer Space financing / STel RIc fATUISOT
2. Overseas financing / faexh faduyor

3. Outstation sourcing / STgl R[4 T
4, Outsourcing /a'f%:whaq

Correct Answer :-

 Outsourcing / EI’%@?‘FT

25) Which one of the following is not a characteristic of evaluation? / fFaferfaa o & &
i 1 U fa=ivar 71 82

1. It implies a systematic progress / THDT Iy T safRyd wifa 9 B
2. It is a continuous process. / dg Uh Hdd ufesar %I

3. It always assumes that educational objectives have previously been identified and defined. / g

THI AT Sf11 & o Afaep Ie=al &l ugdd ugaHT SR R fbar mar g
4. 1t does not give emphasis to personality changes. / 98 STk URT TR SR BRG]
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Correct Answer :-

« It does not give emphasis to personality changes. / g fdkied URacd IR SR gl a1 gl
26) Which statement about Kabir is correct? / PR & X & P T YT ﬂﬁ %?
i. Kabir Das was disciple of Ramananda. / AR N MG & 1Rrsg

ii. Kabir belonged to the Muslim weaver family. / PAR 'ﬂ'%l'q gadd gRarR | A

iii. Kabir believed God is one and people just worship him with different names. / FAR BT

AT 4T {6 9% Uop & 3R &1 99 39 fafde ar 9 e &1
1. All are correct / T 5! §

2. Only ii / / pad ii

3. Only iii // hdd iii

4. Onlyi/Pad i

Correct Answer :-

o All are correct / Jd ﬂ%bf %

27) Which of the earthquake wave travels fastest? / fo5a W T B GEH et A
Il 82

1. P-Waves / Ul

2. S-Waves / W—W
3. L-Waves / T@-ad|
4. T —waves / CI-a|

Correct Answer :-

o P-Waves/ tﬁ-aTPf

28) Which programme of the Government of India promises to extend livelihood security to
the rural households by providing one hundred days of guaranteed wage employment in

every financial year to every household? / mwwmaﬁ?mmzﬂwﬁa
fo<ita adf & g |t fa 1 R 1o AR Uer SR ardior afvarR) ® srreifdet
YR&T 4 BT a1eT HIAT 82

1. Jawahar Rozgar Yojana (JRY) / SIdlgX ISR ST (@r&maﬁ)
2. Sampoorna Gramin Rozgar Yojana (SGRY) /ﬂTEl;Uf‘;ITJ:ﬂ'UT ISR ST (@Gﬁ&ﬂ?a'lg)
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3. Integrated Rural Development Programme (IRDP) / Qﬂﬂ% UTHI0T fab T HTdhH
(313, 3R. .U

4, The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HglHI Tieft

RS ATHIOT ASATR TTRET SHfATH (FRm)

Correct Answer :-

« The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HelHI Tieft

RS ATHIOT ASATR TTRET SHTATH (FRA)

29) Which is miniature of the parliament of India at the grassroots level? / A Hd TR UR
YRT B TG BT Y =T T 8?2

1. Gram Panchayat / U9 UIRId
2. Gram Sabha / JTH gHT

3. Block Panchayat / i Garad
4. Zilla Parishad / forem uRwg

Correct Answer :-

o Gram Sabha / UTH HHT

30) Which among the following is not function of Central Bank of India? / Fafafeada
T Aed 3§ 3P fear &1 &l 781 872
1. Custodian of foreign reserves / faqf ol HSR &1 IR EDH

2. Operation of Direct Benefit Scheme to the rural poor / I RS o T T Ay aio1 o1
BEINES

3. Bankers bank / CERUCAKCE

4. Controller of credit / 2BUI (ahI(\SC) CARGUEL?

Correct Answer :-

« Operation of Direct Benefit Scheme to the rural poor / o TRIE o T T e Ay aieE &1

31) Which among the following countries typically follows a free market economic system? /

Frafafea =i & 9 Si-91 1, go TR e yommedt &1 SR ST 872

1. Cuba / &dI
2. South Africa / <l bt

3. China / G|
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4. USA / G T 3R]

Correct Answer :-

. USA / Igad oY 3ERIeT

32) Which mass based organization’s initiative led to the passage of Right to Information

Act?%gmmmaﬁwmmﬁ%?mmWaﬂmWﬁ
Ued §%?

1. National Campaign for Human Rights Initiative / AHATYHR Tgd o forg ?Tg"q 3R
2. Great Legalisation Movement India / Hgl efiepruT e HRd

3. Mazdoor Kisan Shakti Sangathan / HoIgX [CRISRNICSRSE]

4, Self — Respect Movement / Id-JH[ 3figre

Correct Answer :-

+ Mazdoor Kisan Shakti Sangathan / HslgX fam xfdd T+

33) Which Commission was appointed by the Government of India to bring changes in
secondary education system to make it better for the nation?

/ HIRd WP gRT {6 H AT 1 AP & o dgaR 91 8 Areafde g yomedt #
Jedrd a1 & fore fFrge far ¥

1. Mudaliar / GGTTCRAR

2. Srikrishna / ST 80T
3. Ramaswamy / ATt

4. Kothari / B3

Correct Answer :-

« Mudaliar / &TICRIR

34) How much time difference is there between two longitudes? / E.Pf %Q'I'I?R:T & i foa-r
Y 3R i1 8?2

1.2 min /2 fiE
2. 12 min/ 12 fiF e
3. 8 min/ 8 fiHC
4. 4 min / 4 fie
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Correct Answer :-

« 4min/4 T8

35) How many ‘subjects’ have been assigned to Local Governments through Constitutional

Amendments? / HAUTIS TRNUA & ATEHH | RITIT IWHRI 3t fHa- v @i &2
1. 10
2.19
3.39

4. 29

Correct Answer :-

« 29

36) Which of the following is an outcome of pragmatic school of philosophy? / FEfif@a # A ®19

SRR & ATAeRYAS fIeTad &1 TP Yoy 3: -
1. Project method / RIS (Eh@ﬁ!a fafer

2. Discussion / TR=al

3. Team teaching / €19 fR7&f0T

4. Source method / @I fafdl

Correct Answer :-

» Project method / RS (Cﬁ@ﬂ%) fafr

37) Which diagrammatic representation would you like to choose to show Proportionate Allotment

of National Income to different categories? / fafirar gforat o ?T@'q AT & &nquﬂ%ﬁ? 3Tded &1
faamM & ferg oy fore syt fA=egor &t g1 Argire

1. Flow diagram / Ydlg IRE
2. Time Lime diagram / CISH ¢llgH 3T

3. Bar diagram / AR 3G
4. Pie diagram / UT'sc 3T

Correct Answer :-

o Pie diagram / m's‘ 3G

38) The National Curriculum Framework, 2005 insists that Social Sciences must link child’s life at

school with: / ITFTT UTST=TT P1 TUEI, 2005 3H I1d TR IR gl & P oo & wrATfore famm
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@1 g & Sita 4 9 gRT sis T =feu: -

1. Real life outside the classroom / H&T & TG ] IRCAD Sild-
2. Life inside the classroom / H&T & HieR Sita

3. Textbooks in the classroom / BH&T H WW

4. Teacher’s expectation / fR1&id 31 3rden

Correct Answer :-

e Real life outside the classroom / D&l ® CIRRE: ! CESICEASICE

39) The Aihole Inscription is ascribed to which of the following rulers? / fafafad smaet @

W forad gRT Ugia Rrarera fofaa art ot g2
1. Kharvela / @Rdd

2. Bimbisara / fofieER

3. Rudradaman / SGGTHA

4. Pulkeshin II /WW

Correct Answer :-

« Pulkeshin II /Qﬁm@?ﬁq

40) Which of the following is a plantation crop? / fAufaf@d # § H19-3 v geRIvu Baa
a2

1. Sugarcane /[ TT
2. Cashew nut / ®TS]

3. Cotton / ©UNH

4. Red Chili / o< fod

Correct Answer :-

+ Cashew nut / dI]

41) Criterion-referenced evaluation refers to: / ATFGS-giid eIid BT aTead
gl

1. Evaluation based on a set of predetermined criteria / Gd fFUiRd AFCS! & Th I & SHTUR R
HedTh HAT

2. Evaluation conducted without any arbitrary norms / fé&t ft B0 AFEST & Gedich o foT
SHTANST BT
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3. Evaluation carried out after conducting pilot test / TRTH® URI&U1 HRA o &G Geich1 HAT

4. Evaluation administered as post-test mechanism / edid & STG TRIE0 o & =0 H TR BT

Correct Answer :-

« Evaluation based on a set of predetermined criteria / Gd fAYTRd AFCSI & TH AT & SHTUR R
HedTh BAT

42) In collaboration with an organization in which among the following countries, the
Ministry of Earth Science has launched ‘Project Varsamana’ as a cornerstone of the Indian
meteorological department modernization programme? / T 6 & JgaiT I fAafafasa
20 A | fraw, gedt fagm wamera A uReda Wd Ay snyfRaieor srfea 3t snurien &
9 ¥ ‘Hioiae qaia= T yRe f6ar 82

1. France / W19

2. Russia /&Y

3. USA / 3T
4, Germany / Gﬁ:ﬁ

Correct Answer :-

« France /W19

43) CANCELLED

Which of the following is the narrowest strait of the world? / ﬁ'ﬁ'ﬁf@_ﬂ ﬁ' @' aﬁ? ?ﬂ gﬁl’cﬂ a%’r
Y P10 STasHEHH (STaHiy) 82

1. Strait of Dardanelles / GTGiesl SISy
2. Foveaux Strait / il STarg e
3. Bab-el-Mandeb / d1d 3 A<d

4, Strait of Tartar / CIEQ CARCIGERIE]

Correct Answer :-

« Strait of Tartar / CTex 1 ST (Y
44) CANCELLED

Which one of the following is not included as a function of summative evaluation? / fFafefaa

T DI GRS Teid & $1d & =0 § i T8 82
1. Promoting/m?\‘:l'l'é':f

2. Selecting / TAMT BT


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

3. Discriminating / fANg®HRY
4. Crediting / 99 &1

Correct Answer :-
« Discriminating / fAUg®RI
45) CANCELLED

Which one of the following is not a characteristic of critical thinking skills? /Fafafead s
w1 fade g S ot U faivar 181 82

1. Being time consuming and laborious / 3{f&/dh FHY & dTcl 3R ufveft g
2. Being resourceful and creative / e TUH 3R IS AT

3. Being systematic and deductive / SHaRId 3R faasr® g

4. Being reasonable and rational / FUferd R qHETd g1

Correct Answer :-

« Being time consuming and laborious / 3{fe/& THT A7 aTer SR ufesedt g1
46) CANCELLED

The industry which produces machine tools which are, in turn, used for producing other

goods for consumption purpose. / agmﬁﬁﬂ'ﬂﬁ;ﬁ SNSRI WB?CITEFTWT%, Sl gl
H, SUURT & I£RT A 39 I3 BT I H1 & T IuaT {5 o

1. Fiscal goods / TR T AT

2. Capital goods / q\GﬂTIT‘TIIWT
3. Consumer goods / YUY IXJY

4. Perishable goods / TRTd I Tl HId

Correct Answer :-

47) CANCELLED

Who translated Ramayana and Mahabharata from original to Oria language? / §& I

IS UTHT & AT SR HETHRA HT 3aTe fpa= fpar?
1. Fakir Mohan / B Ih_EFT
2. Madhusudan Rao / HYJa- 14

3. Radha Nath Ray / 8T 1Y Y


https://applink.adda247.com/d/XhqWf9lSap

Addai247

4. Lakshmi Nath Bezbarua / A& A1Y I3

Correct Answer :-

« Fakir Mohan / BHR InB:T

48) CANCELLED

GET IT ON
Google Play

The cold layer extending up to the ocean floor is called? / HH% ¢l dPb Pell 38 A w1

RIT HET SATdT1 22

1. None of the above / I9dad H ¥ ®Ig gl

2. Epilimnion layer / wfofermfAoe wRa
3. Thermocline layer / uﬁfaas‘rr Od

4. Hypolimnion layer / gRUIfHHT WRd

Correct Answer :-

« Hypolimnion layer / mﬁiﬂﬁlﬂq ud

49) CANCELLED

MMatch the following:

1. Din--Ilahi A Abul Fazl
2. Fam Charit Manas | B. Tulsi Das
3. Ain-i-Akbar C. Babur

4. Tazuk-I Baban D. Akbar

| eafeaa = &

1. §-U-Semgr A 3l Balel
2. A 9Rd A\ | B. Jordl g
3. Ve U-3ahell C. dmEx
4. ged-v-arall D. 3ha{

1. 1-A,2-B,3-A,4-C
2. 1-D,2-A,3-B,4-C
3.1-B,2-C,3-D,4-A
4.1-C,2-A,3-B,4-D

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

« 1-A,2-B,3-A4-C

50) Continuous and Comprehensive Evaluation has transformed the evaluation system as: /

Tad 3R HATYS Yedich A Yedich JIel! Hi & U H FUiaid 2 fear g1
1. More complex by incorporating too many details / §gd HR fdaRUT &1 IMAA HIb 3R 3iferw wifed
2. More comprehensive for scholastic areas only / %ad e &=t & fore it s

3. Vague as exact rank of the student cannot be found out / 3RIU, Fiifds BT & TIH ¥ 1 Ul Te
T S ebell ©

4. More reflective of the entire personality of a student / U SH & Q;Ufa?lﬁﬁ & fawa o st
Correct Answer :-

« More reflective of the entire personality of a student / T B & E[Ufm & fawa o aiftre

51) The chalcolithic site Inamgaon of ancient India belongs to which of the following states?

/ﬁyﬁr%@aﬁﬁmwﬁuﬁq YR PT a9 UTTUT T (ATeDI A 1dP) RIS SATHIG
Hafua 82

1. Maharashtra / IlE'RTg
2. Rajasthan / XTSTRITH

3. Karnataka / W
4. Gujarat / 7[SIRTd

Correct Answer :-

o Maharashtra / I[B'RTg

52) In which of the following session of the Indian National Congress the resolutions on
Fundamental Rights and National Economic Policy were passed? / YR ?Tg:rq CIpRs K2

o & & fvw w3 7 Hifere eifteR o Ity anffe fifa W deew ula fed ma?
1. Faizpur,1936 / ToTUR, 1936

2. Lahore, 1929 / @TER, 1929

3. Karachi, 1931 / I, 1931

4. Belgaum, 1934 / §CH, 1934

Correct Answer :-

. Karachi, 1931 / BT, 1931


https://applink.adda247.com/d/XhqWf9lSap

e
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53) The first mass movement against British India was : / fafesr W%WWW GI'IEﬁTFI Ur:
1. Non-Cooperative movement/ﬁ?-ﬂ’&'ﬂ 3figre

2. Swadeshi Movement / SdGRT 3figia

3. Quit India movement / W@ﬁ—eﬁ 3figia

4. Khilafat Movement / RaqTtrd srigia

Correct Answer :-

« Swadeshi Movement / Tc et 3fiaraq

54) Margosa oil is obtained from which of the following trees? / AR dw Fafafea d 9
fra 05 9 urwa grar 82

1. Ficus / Igh g

2. Babul / 9¢c1
3. Neem / Cit|

4. Bamboo / 919

Correct Answer :-

« Neem / Gt

55) Which among the following is the World’s largest Wetland System?

/ FPrafafaa @ 9 19 fay o ga9 931 sy yorelt ded's Rew) 82
1. Everglades (USA) / TaRT0IS Y (UT)

2. Okavango (Botswana) / 3BT ( SIeqdT)

3. Pantanal (South America) / T=I-TaITdl (Gf&T0T ARG

4. Camargue (France) / HIT (1)

Correct Answer :-

« Pantanal (South America) / T=I-TcITcl (GI&T0T SR

56) Scientific study of soil is known as which of the following / frafafeada Hal &I
AT 3T AT ATl 82

1. Soilology / mﬁ\?ﬁ
2. Pedagogy / SIS


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

3. Pedology / USIdlait
4. Ontology / fferarsh

Correct Answer :-

« Pedology / USTQrSIt

57) Greenland comes under which of the following Jurisdiction? / "ff'_'la:g, ffofafead a

fae sftrerR-a= # e 82
1. Danish / ST

2. Norwegian / FTd for

3. US / 3ARa®1

4. Dutch / sd

Correct Answer :-

o Danish / éﬁgl

58) Which year was ‘Project Tiger’ launched in India? / WIRd H e 4 § ‘Wviee e’
R¥H g U2

1. 1973
2. 1974
3. 1971

4. 1972

Correct Answer :-
« 1973

59) Who succeeded Shivaji Maharaj as the Maratha king? / HTST XTSIl & =q | Rrareh

HERTS BT STRIYBRI BT F41?
1. Shahji / m&sH
2. Shahuji I / gt I

3. Rajaram I / XISTRTH I
4. Sambhaji Bhosle / FHTST HITal

Correct Answer :-

. Sambhaji Bhosle / FHTST HI¥Tct


https://applink.adda247.com/d/XhqWf9lSap

Adda
Google Play

60) Social Learning theory was introduced by: / \THIf® SfRTH Rigia & g7 U fpar
g1 YT

1. Sigmund Freud / RATHE Wigs
2. Carl Jung / &Tet G

3. Carl C. Rogers / BTe T, o
4. Albert Bandura / 3{eac Sg1

Correct Answer :-

« Albert Bandura / 3{e8c SgI
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